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1.Write 2,200,002.002 in words

2.What is the total value of digit 8 in the figure 9840302?

3.What is the difference between the GCD and the LCM of 40 and 60?

4.What is 5998786 rounded off to the nearest ten thousand?

5.What is the square root of 6 19/25?

6.What is the value of:-
(0.5+0.1*2.05-0.35)/0.05

7.Ken and John had packets of biscuits to be packed in cartons.Each carton holds 23 packets.Ken packed 136 cartons and remained with 12 packets while John packed 108 cartons and remained with 19 packets.How many more packets of biscuits did Ken have than John?

8.What is the value of;-
8(9^2-8^2)+72/9?

9.What is the number 69.9981 rounded off to the nearest hundredths?

10.During a by-election,there were four candidates F,G,H and J.Candidate H got 4300 votes which was 1200 votes more than what J got and 2200 votes less than what G got.The total number of votes counted was 24400.How many votes did F get?

11.What is the square root of :-
2 1/4/5 1/16*(1/2)^2?

12.A tailor had 52.5m of a cloth material.He made 3 dresses each requiring 5.75m and 4 shirts each requiring 4.5m of the material.What length of the material remained?

13.What is 586.789 rounded off to the nearest tenth?

14.The price of kerosene fuel was decreased by 10% during the month of June.At the end of the same year the price increased by 10%. If the new price of the fuel is sh.99,what was its price before the reduction?

15.What is the value of:-
1.2-0.8*0.46-0.01?

16.Work out:-
3/4 of 4/9(1/2-1/4)*5/3-1/6

17.An open cylindrical tin has a diameter of 28cm and a height of 40cm and was painted on its outside surface.What area was painted?

18.In a school, the bell for lower primary rings after every 30mins and that of upper primary after 35mins.If the two bells rang together at 8.20a.m,at what time did they ring together next?

19.Ted was in holiday from 5th January to 5th March 2008.For how many days altogether was he in holiday?

20.A watch gains 30sec every hour.If the watch was set right on Sunday at 2.30p.m,what day and time did it show after 12hours?
21. What is the sum of the next two numbers in the sequence?
17,19,23,25,_,_
22. After selling a car for sh.520000, an agent got a 10% commission.How much did the owner get?

23.A length of 5.2cm on a scale drawing represents an actual length of 10400m.What is the scale used?

24.Sixteen workers can dig a field in 12days. How many LESS days will it take twenty four workers to dig the same field at the same rate?

25.The hire purchase price for a cooker is 20% more than the cash price. Joe bought it on hire purchase terms by paying a deposit of sh.8400 and the remaining amount in 12 equal monthly instalments.If the cash price was sh.25000,how much was each monthly instalment?


